
Subject: Re: RailML 2 Infrastructure
Posted by alfaeco on Thu, 17 Feb 2011 11:27:20 GMT
View Forum Message <> Reply to Message

I would change the balises and balise groups as follows

Instead of:

				<balises>
						<balise id="BG01_0" countryID="357" groupID="01" 
pos="119.700" ndx="0" dir="up" linkingAccuracy="5"
linkReactionDescending="noReaction" 
description="E2 Infill balise group"/>
						<balise id="BG01_1" countryID="357" groupID="01" 
pos="119.703" ndx="1" dir="up" linkingAccuracy="5" 
linkReactionAscending="noReaction"/>
						<balise id="BG03_0" countryID="357" groupID="01" 
pos="119.985" ndx="0" dir="up" linkingAccuracy="5"
linkReactionDescending="noReaction" 
description="E2 signal balise group"/>
						<balise id="BG03_1" countryID="357" groupID="01" 
pos="119.988" ndx="1" dir="up" linkingAccuracy="5" 
linkReactionAscending="noReaction"/>
						<balise id="BG03_2" countryID="357" groupID="01" 
pos="119.991" ndx="2" dir="up" linkingAccuracy="5" 
linkReactionAscending="noReaction"/>
						<baliseGroup>
							<baliseRef ref="BG01_0"/>
							<baliseRef ref="BG01_1"/>
						</baliseGroup>
						<baliseGroup>
							<baliseRef ref="BG03_0"/>
							<baliseRef ref="BG03_1"/>
							<baliseRef ref="BG03_2"/>
						</baliseGroup>
					</balises>
				</ocsElements>

I
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----== posted via PHP Headliner ==----
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